1ii Mathematics

Multiple Choice Questions (MCQs)
11" Term
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Topic — Multiplication

Addition fact for — | 3x9

(a) 3+3+3+3 (b) 8+8 (c) 4+4
Multiplication fact for 2+2+2+2
(a) 3x6 (b) 8x4 (c) 7x6
A bee has 2 wings. How many wings do 6 bees have?
(@) 12 (b) 12 (c) 16
Name the number just after 3x6
(@) 19 (b) 68 (c) 76
7 days in a week. How many days in 6 weeks?
(@) 92 (b) 100 (c) 42
0x7 is
(@8 (b) 96 (©0
Multiply 2x10 is
(a) 60 (b) 90 (c) 80
Five eights are
(a) 40 (b) 60 (c) 90
9x[1 =0
@0 (b) 6 ()5
8 multiplied by 10 is
(a) 60 (b) 90 (c) 80
L1 x6=6
@1 (b) 6 (c) 8
2 times 5 are
(@) 10 (b) 60 (c) 8
30x10 =[]
(@) 500 (b) 300 (c) 900
5x100 =[]
(@) 500 (b) 700 (c) 600
X 4 1 5 | Complete the table.
7 28
(@) 7,35 (b) 8,40 (c) 6,30
Number just before 9x6
(a) 28 (b) 64 (c) 98
How many wheels are there in 5 cars.
(@) 20 (b) 30 (c) 76
9x100 =
(a) 300 (b) 700 (c) 900
0x500 = [
@0 (b) 6 (c) 8
Write multiplication fact:
9+9+9+9+9+9

(a) 9%x6 (b) 2x7 (c) 7x6

(d) 9+9+9

(d) 2x4

(d) 10

(d) 98

(d) 86

(d) 48

(d) 20

(d) 100

(d) 2

(d) 100

(d) 10

(d) 7

(d) 100

(d) 200

(d) 8,90

(d) 53

(d) 54

(d) 200

(d)9

(d) 8x1
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2 ii Mathematics
Topic — Division

How many 4s are there in 367

(@) 8 (b) 7 ()9 (d) 12
Which of the following number sentences is the odd one?

(a) 16»2=8 (b) 9x9=81 (c) 16x2=32 (d) 16»8=20
When you divide 37 by 6, the remainder is

(@5 (b) 1 (c) 89 (d) 12
Share 14 marbles among 2 boys. Each boy gets[1 marbles?

(@7 (b) 10 (c) 20 (d) 8
Which number divided by 8 gives an answer of 9?

(a) 16 (b) 18 (c) 72 (d) none of these
24»2=[1

(@) 12 (b) 16 (c) 30 (d) 15
L1»8=5

(a) 36 (b) 40 (c) 90 (d) 63
There are 6 toy cars and 3 boys. Each boy gets (] cars when divided equally.

(@ 2 (b) 12 (c) 20 (d) 40
63

(a) 36 (b) 9 ()21 (d) 40

10 children are seated equally in 5 cars. 10» 5 =[]

(@) 17 (b) 2 (c) 18 (d) 36
8»[1=1

(@) 8 (b) 20 (c) 40 (d) 3
Write the quotient 12 » 12 =[]

(@1 (b) 72 (c) 24 (d) 3
When a number is divided by 1 the answer is

(a) same (b) 4 (c)0 (d) none
3 oranges are distributed equally among 3 girls. How many oranges does each get?
@)1 (b) 4 (c)0 (d) none of these
20»2=[1]

(@) 10 O (b) 16 (c) 98 (d) 56
Quotient will be 6)36(

(@) 6 (b) 99 (c) 18 (d) 56
Share 16 toffees among 8 girls. Each girl get.

(@) 8 (b) 6 ()2 (d) 14
18» 9=[]

(a) 48 (b) 2 (c) 98 (d) 46
36»1=[]

(a) 56 (b) 96 (c)54 (d) 36
Write the quotient. 14 » 2 = ]

(@7 (b) 21 (c) 36 (d) 42
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3 ii Mathematics

Topic — Measurement

The Length is measured in

(@ m (b) L
My pencil is 10 long

@L (b) kg
Im= cm

(a) 100 (b) 10
lkg=_ g

(a) 1000 (b) 100
The capacity is measured in

@L (b) g
Milk is measured in

@ag (b) m
The length of a table is measured in
(@ m (b) L
100cm = m

@1 (b) 2
The weight is measured in

@L (b) g

1L = mL

(a) 100 (b) 1000
1000 g = kg

(@1 (b) 100
Sugar is measured in

(a) kg (b) L

Correct unit for measuring weight of bag

(@)L (b) kg
2kg = grams
(a) 2000 (b) 2

Unit we use to measure capacity of milk.

(@L (b) kg
8L = mL
(@) 1 (b) 80

Weight of the sugar sack is measured in

(a) kg (b) L
5kg=__ g

(@) 5000 (b) 200
Weight of the plum.

(&) m (b)g
200cm=____  m

()2 (b) 5

A

v

(c) kg

(c) cm

€1

(c) 10

(c)m

(o)L

(c) mL

(c)3

(c)m

(c) 10

(c) 1000

(c) mL

(c) mL

(c) 1000

(c)m

(c)8

(c) mL

(c) 50

(c) mL

(c)6

dag

(d) mL

(d)0

(d) 1

(d) kg

(d) cm

dg

(d) 4

(d) mL

(d) 1

(d) 0

(d) m

(d) cm

(d) 10

(d) cm

(d) 8000

(d) cm

(d)5

(d) kg

(d) 7




